True or false

Write true (T) or false (F)
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The teapot is the heaviest

The bottle is the lightest

The can is lighter than the bottle

The teapot is lighter than the bottle

The can is the lightest

The bottle 1s heavier than the apples

The can 1s lighter than the teapot

The apples are as heavy as the teapot
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The teapot is the heaviest |

The bottle is the lightest I

The can is lighter than the bottle T

The teapot is lighter than the bottle I

The can is the lightest |

The bottle is heavier than the apples I

The can 1s lighter than the teapot T

The apples are as heavy as the teapot I
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